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Guowp | [ 7 300 - 50 = 250
: oA ~§3OO 250 L 2 = {125
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et » 2184+ 2 = 1092
S { l ‘ — }? So the smaller ¥ s 1092
wollec & _—w?m!- —— The bigger ¥ is 3 X (092 = 3296
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3276 + loq2 = H368

SAM simply mvlﬁpl\‘ed The oves by 7 and fre tews by 7, bt he Kiled
in These products wilhowt Thinking of PLAce VALLE He clidm'+ add
o The | more ten o The 21 tens o get 22 +ems He showld have

N Carpied” | (Whem he rebundled 10 oves for | tew) and written 1t above The 3.

TJULIE forgetdo oadd on e 2 more tems Trat wesre avried " cver
o tre 4 x 2 tems or 8 tews she had

FRANK made an anthmehc mistake He shouvld have said
4%3 tems + 2 move fens =, 14 +ems (Thatis (4¥3) 42 = 1242 = 14)
7
He put [l here



